

Dimitrios Kavouras  
 15/EMERG 1016  
 Green / Elect  
 Assignment 5

①  $dy/dx = e^{2x}$

Given  $\ln(x) = 0, y = 2$

$y' = 2y = e^{2x}$

$y = 2y = e^{2x}$

$2y' = 2y = e^{2x}$

sol

$2y' = 2 + 2y = \frac{1}{2x}$

$2y' = 2 + 2y = \frac{1}{2x}$

$2y' = 2 + 2y = \frac{1}{2x}$

$2y' = 2 + 2y = \frac{1}{2x}$

$2y' = 2 + 2y = \frac{1}{2x}$

$2y' = 2 + 2y = \frac{1}{2x}$

$2y' = 2 + 2y = \frac{1}{2x}$

$y' = \frac{2A+B}{C(x)} = \frac{A}{x} + \frac{B}{x^2}$

$C(x) = 2x + 3$

$\frac{A}{x} \left| \frac{2x+3}{2x+3} = \frac{2x+2}{2x+3} = \frac{2x+2}{2x+3} = \frac{1}{2} + \frac{1}{2x+3}$

$\frac{A}{x} \left| \frac{2x+3}{2x+3} = \frac{2x+2}{2x+3} = \frac{2x+2}{2x+3} = \frac{1}{2} + \frac{1}{2x+3}$

$\frac{A}{x} \left| \frac{2x+3}{2x+3} = \frac{2x+2}{2x+3} = \frac{2x+2}{2x+3} = \frac{1}{2} + \frac{1}{2x+3}$

$\frac{A}{x} \left| \frac{2x+3}{2x+3} = \frac{2x+2}{2x+3} = \frac{2x+2}{2x+3} = \frac{1}{2} + \frac{1}{2x+3}$

$\frac{A}{x} \left| \frac{2x+3}{2x+3} = \frac{2x+2}{2x+3} = \frac{2x+2}{2x+3} = \frac{1}{2} + \frac{1}{2x+3}$

$\frac{A}{x} \left| \frac{2x+3}{2x+3} = \frac{2x+2}{2x+3} = \frac{2x+2}{2x+3} = \frac{1}{2} + \frac{1}{2x+3}$

$\frac{A}{x} \left| \frac{2x+3}{2x+3} = \frac{2x+2}{2x+3} = \frac{2x+2}{2x+3} = \frac{1}{2} + \frac{1}{2x+3}$

$\frac{A}{x} \left| \frac{2x+3}{2x+3} = \frac{2x+2}{2x+3} = \frac{2x+2}{2x+3} = \frac{1}{2} + \frac{1}{2x+3}$

$\frac{A}{x} \left| \frac{2x+3}{2x+3} = \frac{2x+2}{2x+3} = \frac{2x+2}{2x+3} = \frac{1}{2} + \frac{1}{2x+3}$

$\frac{A}{x} \left| \frac{2x+3}{2x+3} = \frac{2x+2}{2x+3} = \frac{2x+2}{2x+3} = \frac{1}{2} + \frac{1}{2x+3}$

$$(10) \quad 2x \frac{dy}{dt} - 6y = 3 \sin 2t \quad \text{at } t = \pi, y = 1.$$

$$2xy' - 6y = 3 \sin 2t.$$

$$3(x \frac{dy}{dx} - 2y) - 6y \cos 2t = \frac{3}{\sin 2t}$$

$$3(x \frac{dy}{dx} - 1) - 6y \cos 2t = \frac{1}{\sin 2t}$$

$$3x \frac{dy}{dx} - 3 - 6y \cos 2t = \frac{1}{\sin 2t}$$

$$3x \frac{dy}{dx} - 6y \cos 2t = \frac{1}{\sin 2t} + 3$$

$$3x \frac{dy}{dx} - 6y \cos 2t = \frac{1 + 3 \sin 2t}{\sin 2t}$$

$$xy'(x) - 2y(x) \cos 2t = \frac{1 + 3 \sin 2t}{2 \sin 2t}$$

$$xy'(x) - 2y(x) \cos 2t = \frac{1}{2 \sin 2t} + \frac{3}{2}$$

$$xy'(x) = \frac{2y(x) \cos 2t}{x} + \frac{1}{2x \sin 2t} + \frac{3}{2}$$

$$y'(x) = \frac{2y(x) \cos 2t}{x^2} + \frac{1}{2x^2 \sin 2t} + \frac{3}{2x}$$

(11)

$$\frac{1}{2} \frac{d}{dt} (x^2 + y^2) = x \dot{x} + y \dot{y} = 0$$

$$\frac{1}{2} \frac{d}{dt} (x^2 + y^2) = 0 \Rightarrow x \dot{x} + y \dot{y} = 0$$

$$\frac{1}{2} \frac{d}{dt} (x^2 + y^2) = 0 \Rightarrow x \dot{x} + y \dot{y} = 0$$

$$\frac{1}{2} \frac{d}{dt} (x^2 + y^2) = 0 \Rightarrow x \dot{x} + y \dot{y} = 0$$

$$\frac{1}{2} \frac{d}{dt} (x^2 + y^2) = 0 \Rightarrow x \dot{x} + y \dot{y} = 0$$

$$x \dot{x} + y \dot{y} = 0$$

$$x \dot{x} + y \dot{y} = 0$$

$$x \dot{x} + y \dot{y} = 0$$

$$x \dot{x} + y \dot{y} = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$\frac{d}{dt} (x^2 + y^2) = 0$$

$$y_{(1)} (s^2 - 2s - 2s + 6) = \frac{3s - 6}{s - 2}$$

$$y_{(1)} (s^2 - 4s + 6) = \frac{3s - 6}{s - 2}$$

$$y_{(1)} = \frac{3s - 6}{s^2 - 4s + 6} = \frac{A}{s - 2} + \frac{Bs + C}{s^2 - 4s + 6}$$

$$= \frac{A}{s - 2} + \frac{Bs + C}{s^2 - 4s + 6}$$

$$\frac{3s - 6}{2} = \frac{A}{2} + \frac{Bs + C}{2}$$

$$\frac{3s - 6}{2} = \frac{A + Bs + C}{2}$$

$$\Rightarrow 3s - 6$$